[bookmark: _GoBack]10
[image: C:\Users\cmackinnon\AppData\Local\Temp\a5025728-a80c-46b1-bdbc-8e55472c976d.png]10+0=10
[image: C:\Users\cmackinnon\AppData\Local\Temp\3b9e807e-5bd2-4c7a-9b6a-f3c8ffa31ebb.png]9+1=10
[image: C:\Users\cmackinnon\AppData\Local\Temp\81efcdd3-3fd9-492d-8f55-155e26e8b219.png]8+2=10
[image: C:\Users\cmackinnon\AppData\Local\Temp\2111e33d-a0b8-4f9f-b1d0-cd3660fa57ae.png]7+3=10
[image: C:\Users\cmackinnon\AppData\Local\Temp\2128d91e-f4f8-4ab1-aecb-5f47f2111834.png]6+4=10
[image: C:\Users\cmackinnon\AppData\Local\Temp\17b468e1-7126-46bb-b92b-2c98665eeaab.png]5+5=10
image1.png




image2.png




image3.png




image4.png




image5.png




image6.png




